	Three-Year Scheme of Work 
Term 5 Assessment: Higher Tier
	



[image: image1.png]e A\




Pearson 
Edexcel 
3-Year Scheme of Work: Term 5 Assessment
Higher Tier
Instructions

· The time for the test is 1 hour.

· Answer all questions. 

· [image: image10.emf]Answer the questions in the spaces provided 
– there may be more space than you need.

· Questions that require a calculator are marked with the symbol         .

Information

· The total mark for this paper is 50.

· The marks for each question are shown 
– use this as a guide as to how much time to spend on each question. 

Advice

· Read each question carefully before you start to answer it. 

· Keep an eye on the time.

· Try to answer every question. 

· Check your answers if you have time at the end.

1
Identify two triangles that are congruent. 
Give a reason for your answer.
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....................................................................................................................................................................

....................................................................................................................................................................

....................................................................................................................................................................

....................................................................................................................................................................

(2 marks)
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2
The table shows the masses of 60 baby seals within 1 week of birth. 
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a
On the grid, draw a cumulative frequency diagram.            
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(3 marks)
b
Estimate the median mass.

........................................

 (1 mark)

c
Find the interquartile range.

........................................

 (2 marks)

d
Estimate the percentage of seals that weigh more than 12.9 kg. 

........................................

 (2 marks)
3
BE is parallel to CD.
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a
Explain why triangles ABE and ACD are similar. 

............................................................................................................

............................................................................................................

............................................................................................................

............................................................................................................

............................................................................................................

 (3 marks)

b
Work out the length x. 

........................................

 (3 marks)
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4
Shapes S and T are similar. 


The area of S is 80 cm2. The area of shape T is 180 cm2.


Calculate the height of shape S. 

 cm

(4 marks)
5
The ages of the viewers watching film A are 18, 19, 17, 19, 20, 21, 21, 20, 28, 22, 32

a
Draw a box plot to show the data for film A.
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 (3 marks)


The box plot below shows the ages of people who watched film B.
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b
Compare the two data sets.

....................................................................................................................................................................

....................................................................................................................................................................

....................................................................................................................................................................

....................................................................................................................................................................

(2 marks)

6
Prisms A and B are similar. 
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The surface area of A is 135 cm2. The surface area of B is 240 cm2. 


The volume of A is 864 cm3. 


Work out the volume of prism B. 


cm3
(4 marks)

7
The diagram shows the triangle PQR.


PQ = x cm


PR = 4x cm


Angle QPR = 60°


Show that the area of the triangle is 
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3

x

cm2. 

(4 marks)

8
Sketch the graph of y = –2 cos x for 0° ≤ x ≤ 360°.
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(3 marks)

9
The heights of 40 plants are recorded in this table.
	Height, h (cm)
	Frequency
	
	

	   0 ≤ h ≤ 5
	4
	
	

	   5 < h ≤ 10
	10
	
	

	10 < h ≤ 20
	12
	
	

	20 < h ≤ 25
	8
	
	

	25 < h ≤ 40
	6
	
	


a
Draw a histogram.
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(3 marks)

b
Estimate the number of plants that are more than 15 cm long.

........................................

 (2 marks)

10
The diagram shows the position of three airports P, Q, R.
Calculate the direct distance between P and R.

km

(4 marks)

11
ABC is a triangle.
AB = 7.8 cm.

Angle ABC = 38°.

Angle ACB = 65°.


Calculate the area of triangle ABC.


cm2
(5 marks)
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